0

logarithmic V. ., Vg,
logV. =(loglVig+logLe)/2 loglo=—0,35[u)-u 12
logL o=—0,35[u)~Us7d>
Adaptation: A, =

logarithmic V. ., Vg,
logV. =(loglVig+tlog o)/2 logho=—0,35u)—u:.]
log o=—0,35U\-u ]2
Adaptation: A

-1

o Lo data

Up=(A-550)/5(

maximum
log(V. m)=-0,0
m=0,97

(o}

logVgo=logV . +0,08
10g[Vgo, V... Mo, ol

o data

EE361-1N

Ur=(\-550)/5(

=570

¥

omaximum
log(V. m)=-0,07|
V. n=0,84
3 Vhreshold
50,03, 6=0,00

oS
v,

S

Uy,

\

vVgo, O,Lodata
logV. =(log o+tlogLe)/2 log o=-0,35[\-u ]
logL o=-0,35[u;~Us7q]?

Adaptation: A | =

EE361-3N

O

maximum
log(V . m)=-0,32
V' 1=0,47

Threshold
\Qn? +=0,00

Vo,

logV =(log' o+log o)/2
logVge=logV . +0,35
109[Vgo, V. .+ Co, ol

o odata
log©o=-0,35u)-u:- -]
log 0=-0,35l-u ]2
Adaptation: A

EE361-5N

Ur=(\-550)/5(

=570

R520, 570, 620

570
(0] —— .
,(f’ *\~ maX|mum
s Lo am e N ouV m)=-0,32
2 Y '
*
af
*
Y
="
N -1
400 500

EE361-7N

logarithmic V. ., Vg,

oV ., Lo/V. ] Adaptation: Ay =

oV LoV Uy=(A-550)/5(
logV. =(log\Vlo+logLo)/2 logiVie=—0,35uy—u:.]?
logVge=logV . +0,02
log[Vgo, V.

logL o=—0,35[U)~Us7q>

570

maximum
logV . m)=-0,01
V. m=0,97

Lo/V

$5545, 557, 570

logarithmic V. ., Vg,
logV =(log!Vo+log
logVgo=logV. +0,08
log[Vgo, V.

Alga

Y
0)2 loglVio=-0,35u)~u 1

oV ] Adaptation: A

EE361-2N

oV Uy=(A\-550)/5(

log 0=-0,35[\-u ]?
=570)
570

oV

maximum
log(V . m)=-0,07|
V. n=0,84
Threchold

oV

T=0.03, $=0,00

logarithmic V
logV =(log o+logLe)/2

Vgo oV LoV

Ur=(\-550)/54
log =-0,35u\-u ]
logL o=-0,35[U)~Us7g?

maximum
logV . m)=-0,32
V. =047

$:470, 520, 570

logarithmic V. . Vgo, “o/V
logV =(log o+log o)/2
logVge=logV. +0,35
log[Vgo V., Co/V. ., ofV. ] Adaptation: A =570

EE361-6N
oV Ih=(\-550)/5(
log©o=-0,35[u)-u: ]
log o=—0,350\-u ]2

570

JV

maximum
IngV . m)=-0,32
V' =047
Thresho!d

A%

70,03, 5=0,00

$5520, 570, 620

EE361-8N



